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Until she enters into 7277; on account of X®Ww

OVERVIEW

The 71wn in 5"YX 2799 M21ND states that we allow twelve months for the 701K
to prepare herself for the X1, At the end of this time' if the husband is not
yet ready for the X101, the woman may eat at his expense (as if there was
7RW) and if he is a 772 she may even eat 717N (at his expense). The wn
continues that this ruling (that she may eat 770 by 27 n¥a7) is the mwn
INwX (the original ruling); however a later 72 ruled (711N 71wn) that an
101X does not eat 72170 unless there was 1917 (7X1W°)).

- (%197 Man3) 29 DY N 7997 NMINNK NIYNI 13917 ¥NIYN NIINY DIINY 1Y VPITN
Since 2"2°7 mentions that she cannot eat 7m0 until 2% 21onw, this

indicates that we are referring to the ‘latter mwn’ of 2"¥R P95, which
maintains -
— N9INY DIINY 1Y *)t NYINA NN NIPNY

that an 701X does not eat 77170 when “‘the time comes’ but rather she eats
no 77170 until 797> DN,

nooIN asks:
— NNMYNI NIYNI ININAN 299 Cow) 99 I¥ N P93 *Nnom

And this is astounding; for in 2'"YX P92 the 2°X71R argue concerning the

AIWNRA 7IWR, which maintains -
— 19250 DIVN IN RIIPT DIWN N DT Y90Y 1Y N1DY9N2 NIIIN NINY

That an 707X does not eat %27 Yo T 72190, there is this dispute whether
this ruling is because of the concern of 871, or because of the concern of
DD -

— “ann RONTI NO’D DIYN NHAYVT INTID 11N NNINR NIYNA 97 1999N

! This is referred to a AT DYAT.

% See ‘Overview’ (footnote # 1).

* See “Thinking it over # 1.

4an.

5 Those that maintain that the reason of J1WXRY TIwn is because of X7W, agree that the 1R mwn is
concerned for 1191°0 (even after 11 Ny where there is no concern of 7w [see footnote # 7]). Those who
maintain that the reason of the 7MWY 71wn is because of 11910, distinguish between the 717WXA m1wn which
maintains that there is no 191°0 wwn after 7 NYan since his relatives inspected her to be free from Pmn;
however the 717nR 72wn maintains that this 772 is insufficient until he is p712 her personally 79177 D1NWH.
6 x,m.
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Nevertheless concerning the ruling of the annR M (which maintains
that she does not eat 71911% 01ONW ¥ 717N), all agree that the reason for this

ruling is because of 119750 as is mentioned there -
- 7112)3’7 DIVN [RNIN2Y] ONN 9INPT

For the X721 says there, ‘and the last 71wn is because of 119299 (and not
because of X?W) -
— NN NPV DIVN 13977 XDIVT DIVN 99NRD NN

And here the X713 states that the reason she does not eat 1919 DIONW 7Y is
because of 87w which means the concern that perhaps they will pour her

a cup of 17N wine in her father’s house and she will offer it to her brothers and
sisters who are prohibited from drinking 72170, The question is why does the X 13 here
say X217 0Wwn 19177 011N 7Y when the prohibition of an 797X not eating 0120w ¥ 721N
19 is [only] because of 1191°0!

N1B0IN answers:
— PIIYNRI NIYNII T PINOY 1Y NIN NPT IND NOIND DINY 1Y 91217 W

And one can say; that the expression here 9% 01onw 7¥' is not that
precise, but rather the X ) means until the ‘time comes’, and this

statement 1s in accordance with the 7392N= 71w, which maintains that the 10X
is until 11 NYAT (not until 7919 012NW), therefore it is appropriate to mention X7,

mooIn explains why indeed the X3 mentions 719177 0150 when it means 77T NYAT:
—*nown VP NN MYYY PPH)9 I NYINAVY 299

For since usually by 3%t nya? we make the 1197, therefore the XA na
mentions 77917.

moon offers an alternate answer:
— NPYT 9N N9INY DINY 1Y Y91 1312931 NYN 13°29 2190

And 713912 2'"997 explained that the Xn3 is precise in mentioning T¥
7517 DN -

7 The X3 there explains that the wwn of X919 is only until 121 nyx; however once Ja1 337 and the husband
is obligated to feed her, then he places her in a separate place (away from her family) in order to minimize
his food expenses (for she may give the food to her family).

8 According to this answer of m2oIn the np17nn between 2"22 1M and 2"2°7 is in the T1WRY mwn before
11 nvan (after 11 nyan she is permitted to eat 7n1N according to everyone). 212 717" maintains the reason
for not eating 7110 before 11 N7 is because of 19%°0, while 2" maintains it is because of X7, The
practical difference between them as explained in the X3 is in the cases of 22p (there is no 1191°0 but there
is X?7w) and 72m "on (there is no R?W but there is 1191°0). This all concerns only the m1wR1 mwn. Now
however in the 7117nX 71wn there is no difference since all agree to 1197°0 and not to X2W. [There is no
difficulty in the 172 XX discussing the m1WX" 71wy, since their np12nn is according to the INWRY mwn.]
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— NDWWT DIVN NIPIYN 191X IND ON 920D
For 2"2°7 (according to X1°27) maintains that if initially there would be no

decree that an 701X should not eat ;72170 because of the concern of X9,
then -
— 9Ny ©IINY 1Y 9YONRD MNHY 1P9NNN 190 XY 1N919°0 DIVN

The o°51 would not initiate a decree and forbid her from eating 7¥ 7m0

7272 2120w because of 33127299, moon explains why not -
— 09 DN PN DOWI 2999 NIY XY 11291 9NY

For blemishes that can annul the marriage are not common and most

women do not have 1922; therefore there would never be a concern of 11970 that
we should prohibit them from eating 7170 after 701X -
— NIIWT DIVN MY IPNNIY INNN NON

However since they began to decree on account of N>y -
— NP NNY DIVM P33 HYIN 1Y ADINNL 1INY

Where they initially decreed that an 77017 should not eat 772170 until nyan

127 because of the concern of 1A% R»w, then -
—1991°0 DIVYN NAINN 1Y TN OYN NN 122NN

They extended the decree from 727 v onwards until the 7917 because

of the concern of 12190 -
— N2WT DIUN 1T NYIN TY IMND 19981 939 DININ

since it was already necessary to decree until 327 ny32 because of X7,
— 939N PY NINY XDIWTA DYLN NIN 799

And therefore the X773 attributed the reason to 85 for that is the main

issue, and Nom°0 is merely an extension.
- 19D DIYNY KIWT DIVN NOINY DINNY 1Y BNN 0997 03990 WS BN

And there are also texts here that read; she does not eat 2120w T¥ 717N

79> because of X2 and because of 11572 -
_nns it vaY

And according to the explanation of '*n"777 this reading is properly
understood."

° This is according to the view (of 2"2") that the WX mI1wn2 77713 (that she may not eat until a7 NYAT) was
because of X,

10 The a7 na amends this to read Xd77.

" The amnx mwn requires both concerns; that of X279 for the initial 77°1 and that of 1%91°0 for 119177 701511
"2 However according to the first answer of Mmoo there is only the concern of X9 according to 2"

13 According to the explanation of 0"177, the np12nn between 2"22 13 and 227 is (also) according to the
TN Mwn; where 2"22 73M° maintains the Mo°X is only because of 1991°0 (and therefore by 2p she is N
7MTN2 9158%) and 2"2°1 maintains that it is because of 71w and 1191°0 (and therefore even by %2p) she is
7MINN2 2198 7R before a1 nwan). [They also disagree in the AnwXD mawn, where 2"22 1M maintains 9°0
and 2"2 maintains X719 only.]
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nooINn asks:
—1919 901 *Yap 1199353 NIIN TINDA MNT NUP DYDY

And there is a slight difficulty; for later the XX states there is a
difference between the concern of 2"22 7111 and the concern of 2"2°1 in the

cases of 9ap and 9 9%, and the difference -
— NN N0 DIUNY NI ROIWT DIUN ANT INNPY 791 Tona

In the case of 791 282 is that according to the concern of X' there is no

concern, but there is a concern because of 152 —
— 99NRP INN AYP AYN 1229 290 V199

However according to the explanation of mwn 9'"97 it is difficult to

understand what the X2 is saying —
— Prpws95999 1PNor01 XN X 15 19N 19919 XN

For 1"2 agrees to all the concerns of both 8% and 1192 as I have
explained; so how can there be a difference?!

N1B0IN answers:
— 1191509 195WN INT WY ANNY NNND 399 IND 17199353 NPT N9 7098

And it is necessary to say that the question ¥7%°1%2 5% is not according to
the custom as it is now, for now we are concerned for a 17920 (according
to everyone) —

— U997 N2 NNYUNY NIV 195 NON
But rather the question of 17™1"2 X1 was according to the I1WRS 7awn;

the X713 is coming to explain —
$1991°0 DIVN IN NDIWT DIVMN NAYV %1 ON 193D N

What difference would there have been if the reason behind the ruling of
the 71WRA 73wn was on account of X2I¥ or on account of J19270.

' The y771a XX, according to the 11271» 2377, is seemingly according to the 71nx 7wy (for that is their
nponn); what the difference will be whether we maintain 821 or 11912°0. However the 2"977 just concluded
that according to 2"2™ in the 717nX 71wy the reason for not eating 71N is because of both X7y and 119170,
!> 595 means that the “va accepted and agreed that any 1 that she may have will not invalidate the
marriage. There is no concern of 1191°0, but the concern of X7 remains.

1 See later in 22p 11"7 MPOIN that 79 707 is one case, where the father delivered his daughter to the 5w
527, and he accompanied them (so there is no concern of X71).

' There is no concern for she is no longer in her father’s house.

'8 The n"a71 A3 amends this to 7%, See also X"w7n.

" In the case of 7%m "on according to 2"22 1M she will be anAN2 770X because of 1197°0 and similarly
according to 2"27, since he also agrees to 19%°0 (in the 1R mwn). However by 92p there will be a
difference (even according to the 711X m1wn). 2"22 1M will maintain that by 22p she may eat (even before
a1 ¥°377), since he was 9ap there is no 11912°0 wwi; however 2"21 will maintain that she is 91985 7710K (before
11 ¥9377) since there is the concern of X1,
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SUMMARY

The phrase 79172 0120w 7Y is not exact, since the concern of X7 applies only
until ya1 nyan. Alternately the concern of X7 is the basis for the prohibition
of 719177 01oNW 7¥; in which case 177°°2°2 X is referring to AWK mIWn.

THINKING IT OVER
1. Why did not mo0In ask his question on *"237 who also states TWYX 71 228
RIWT 21w 127, just as X1°27 says?! >

2. Are we required to assume that the 2°X7mX who argue the reason of the
TNWRY mwn (whether it is X2 1wn or 1191°0 D1Wn) are reiterating the npY?nn
between 2"22 737 and 3"3721%!

3. It appears from the words of 2"22 73m that 2"27 is not concerned for
191°0. However according to the 711271n »"1773 ™9, even 2"27 1s concerned

for 119720 (for their argument is 710X FIWH ’Db)!zz
) sk ok

The first answer of nvOIN:
1"2 72 and °"1 argue only according to the TNWXA mIwn:

77°N2 72 AT N 3232 72 Jan TIWRD TR
R7W 7197°0 avy

AT VAT QTP OR 00 - NN oap
R0 —Mn AT VAT QTP OR Tom qon

According to the m17nX 73wn, according to everyone there is only the reason of 11912°0. Therefore
92p is always Imn; however 727 101 is always T0K.

According to 112711 0"177, the argument is in the ANANR 71wn (also).

77°N2 72 A7a° "7

3132 72 3

ONWRA 7w

R 11910 avo
TAT NYAT OTP oKX an - Inm o3P
an - Inm TAT NYAT OTP oKX 75m “on

77PN 32 970 229

JERERERINIE

AN TR

D101 XYW 1197°0 avy
TAT NYAT OTIP OR R0 - M bap
10 - MoK 71N - MoK Tom Ton

20 See 7"nx footnote # 59.
2l See X"wmn.

22 See X"w1n and 7"nx footnote # 84.
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